ATMO 170   Sect. 2




Name__________________________________________

Quiz #1  Feb. 19, 2015





(please also put your name on the back)

1.
(15 pts) In Tucson the concentration of _______ peaks in the summer, _______ is a wintertime pollutant,  
_______ is a problem year round, and ______ is generally not a problem in Tucson at all. 

(fill in the blanks, each answer below should be used once)


a. ozone       
b. sulfur dioxide
c. carbon monoxide       d. particulate matter
2.
(10 pts)  There is less and less air left overhead as you move upward through the atmosphere.  This 
explains why  PRESSURE  TEMPERATURE  always  INCREASES  DECREASES  with 
increasing altitude.

3.
(15 pts) Are sinking air motions produced when surface winds  CONVERGE  or  DIVERGE?  Are sinking air motions associated with surface centers of  LOW  or  HIGH   pressure?  Do sinking air motions produce  CLOUDY  or  CLEAR  skies?

4.
(5 pts) Contour spacing on a surface weather map tells you whether the winds are


a. fast or slow

b. hot or cold

c. stable or unstable
d. dry or moist

5.
(5 pts) To reduce carbon monoxide concentrations would it be best to  INCREASE  or  DECREASE  the amount of oxygen available during the combustion of fossil fuels.

6.
(5 pts) What important atmospheric 


constituent occurs naturally as a solid, liquid, or a gas?
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7.
(10 pts) Which two of the following are not plotted at right?


a. altitude 

b. pressure

c. temperature

     


d. wind speed 

e. relative humidity
f. dew point



8.
(5 pts) Archimedes’ Law states that an object immersed in a fluid will experience a(n) 


______________________________________ equal to the weight of the fluid displaced by the object.

9.
(20 pts) At 35,000 feet , cruising altitude in a commercial airliner is near the top of the _______.  The _______ is the lowest layer in the atmosphere.  Air temperature increases with increasing altitude in the _______.  The _______ can be stable or unstable.     (fill in each blank with S or T to mean the stratosphere or the troposphere)

10.
(5 pts) The isobars drawn on surface weather maps are contours of


a. temperature

b. density

c. pressure

d. altitude

11.
(10 pts) Atmospheric pressure at sea level is about 14.7 psi.  This is determined by which two of the following?


a. the composition of the atmosphere


b. the temperature of the atmosphere 

c. the mass of the air in the atmosphere


d. the strength of the earth's gravity
12.
(5 pts) Before being plotted on a weather map, a station pressure measurement must be corrected 
for

a. altitude       b. latitude       c. temperature      d. longitude       e. time of day







Name__________________________________________

13. 
(5 pts) Particulate matter is often the most noticeable type of air pollutant.  _______ is(are) the best way of removing particulates from the air.


a. sunlight          b. wind
          c. cold temperatures          d. inversions          e. clouds & rain

14.
(5 pts) _______ is considered to be the world’s first recognized air pollutant and is a key ingredient in London type smog.


a. carbon dioxide
b. carbon monoxide
c. sulfur dioxide

d. ozone
15.
(5 pts) The highest concentration of ___________________ in the atmosphere is found in the 
stratosphere.

16.
(10 pts) Nitrogen and _______ are the two most abundant gases in the atmosphere.   Carbon dioxide and 
_______ are greenhouse gases. (fill in the blanks)


a. carbon dioxide
b. water vapor

c. hydrogen
d. argon

e. oxygen
17.
(5 pts) The strength of  _____ exerted on a parcel of air is determined by the air surrounding the parcel.


a. neither the upward or downward forces
b. the downward force


c. the upward force



d. both the upward and downward forces

18.
(10 pts)  The earth is about 4.5  TRILLION  BILLION  MILLION  years old.  Most of the oxygen 
in our atmosphere has come from  VOLCANOES  PLANTS.

19.
(5 pts) An increase in the atmospheric concentration of _______ might change the color of the sky 
from a deep blue to a bluish-white.


a. particulate matter          b. argon
c.  ozone
 d. water vapor

20.
(15 pts) If you cool a parcel of air in the atmosphere the density of the air in the parcel will 
__________, the pressure of the air in the parcel will __________, and the volume of the parcel will 
__________.  (fill in each blank with INCRease, DECRease, or remain the SAME)
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21.
(10 pts) To convert local time in Tucson (MST) to Universal Time do you need to  ADD  or  [image: image3.png]



SUBTRACT  7 hours?  The symbol at right shows winds blowing from the  SOUTH  NORTH.  
22.
(10 pts) Photochemical smog can form when which two of the following react?


a. oxygen (O2)


b. water vapor (H2O)

c. hydrocarbons




d. carbon dioxide (CO2)

e. sulfur dioxide (SO2)

f. ozone (O3)



Extra Credit (you can earn up to 15 pts)
1.
(5 pts) The concentration of _______ in air can range from near 0% up to 3 or 4%.


a. oxygen
b. argon
c. water vapor

d. carbon dioxide
e. ozone
2.
(5 pts) Which of the following is the main problem associated with chlorofluorocarbons (CFCs)?

a. key ingredient in photochemical smog

b. key ingredient in London type smog

c. react in clouds to make acid rain

d. react with and destroy stratospheric ozone

3.
(5 pts) If water vapor is an invisible gas, why can we see clouds?
